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section are to be answered on this page and . ;
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Deleting/overwriting is not allowed. Do not
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Time allowed: 20 Minutes

Fill the relevant bubble against each question: -uj//,fv/"m/»éé—fdf&)’fﬁ

b
if 4=[1 2],B= 4 °| then what
1 2 3
is the order of matrix AB?

KAB./'G'JB:[T 12) ;:!/:!A=[l 2]ﬁ

1-by-3 O 2-by-2 O 3-by-1 (O 3-by-2

‘ eV

What equals - in the following

,  options? O O 1 O - O -

| S il - e tn

What is the value of log,3 is?

3. O 3 O 0 O 0.48 O Lb;g:Possible

?ngfoleogﬁ

1
is equal to:
-

4. O 1+3 O 2+4/3 O = #af3 O w2 wf3

:c‘_/,l/,

:%f

q . 2 _ e
Factorization ofoZ;;{?.z - O G- O @+ O G=bE+y O G+2-1
fonlro X" —2x+

What is the square root of

2
6. [~(a+b-0)] ? O a+b+e) O xa-b+e) Q) -(a+b-0) (O NotPossible
Bk [(a+b-o)f

Which one of the following is a

- 2
solution of 6—=x<0 ?
7. 3 O x29 O x>-9 O x<9 O x<-9
‘-‘ba‘fb/6—--§-x <0 ‘:«I’V/:;l/ul(u:u;@/;

Which of the following lines passes

5
8. through(?,o)- / O x-1=0 O y=2 O y=2x+3 O y=2x
e oS (0,0) FISuf e tridtn
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If medians of a triangle are equal in Right
g length, then the triangle is: O Equilateral O Scalene O Isosceles O " isosceles
CA elalusatOd s ek LSS it P AUIAS A5
=e
If one interior angle of a
parallelogram is 60° , then its
10. opposite interior angle is: 60° 120° 180° 360°
k17 60° UL i O O O O )
ol stidss1
In a parallelogram ABCD, if m£B is
obtuse then the longest segment is:
C
) O O %I O # O
A _ B
I gating LI mLB St ABCDUM IS
?c‘_l/c)fb;gwc_
What is the length of the side of a
square, if its diagonal is J8cm long?
D } C
NG
12, O s ) 9 O 4 O 38
A : B
X » r'e P
feV8cm JVJ];LU’IJIJM.UGQJ&‘LL"/ $
What is the solution set of
x+7|+7=07 ’ .
13. [+7] O {} O {140} O {0.-14 O {14-4
SeerSelx+7+7=0 bl
Which one of the following is a point
of intersection of the angle bisectors Circum
14, of a triangle? O In-centre O centre O Orthocentre O Centroid
?;;_Hﬁl{ugm&wtéwﬁwfu:,}zyu f/c}uﬂ‘l Y//a/li )(/d)/ l/)r/
3, 344
The simplified form of 131‘3—(2‘-)— s:
X
5. 12 O 4 O ax® O 4 O 4
:‘LJ" /‘7” O/ T
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(Science Group)

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE: Answer any nine parts from Section ‘B’ and any three questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly. Logbook and graph paper will be provided on demand.

SECTION - B (Marks 36)
Q.2 Attempt any NINE parts. All parts carry equal marks. (9x4=36)

()  Find the values of x and y if —2["" 3}4{“1 2H° 2]
1 271 2yl 2 -2

2+3i

(ii) Simplify the expression and write the answer in the forma + bi

+1

2p 2g 2r
(i) Simplify (;q](}%}(;l,)

(iv) Find x if log,(x*-2)=2

(v) If x=2-+/3 , find the values of x+ L and x-1
X X

(vij  Factorize: 1-x" —y* +2xy
(vi)  Find the square root of 9x* - 24x® ~14x* +40x +25

(viii)  Solve the inequality §+xT’32-231—%(2x+3) where xe W

5+9x| 4

3

(x) Draw the graph of y+4x+2=0 by taking at least four ordered pairs.

(xi) Using distance formula, show that points A(12,8),B(—2,6) and C(6,0) form a right triangle.
(xii) Any point inside an angle, equidistant from its arms, is on the bisector of it. Prove it.
(xiiiy  In A4BC, internal angle bisector of £4 meets CB at the point D such that

(ix) Solve:

mBD:mDC =mAB:mAC | Find the value of x.

(xiv)  Inright A4BC , find the value of x if DE f 4B.

SECTION — C (Marks 24)
Note: Attempt any THREE questions. All questions carry equal marks. (3 x8=24)
Q.3 Solve the following system of linear equations by using the matrix inversion method. 4x-6y=-2, x+3y=7

Q.4 Show that the points 4(2,-3), B(6,-3), C(6,4) and D(2,4) are the vertices of a rectangle.
Q.5 Solve the system of linear equations x+2y=-1, 4x-3y=18 by using the graphical method.

Q.6 If two opposite sides of a quadrilateral are congruent and paraliel, it is a parailelogram. Prove it.
Q.7 From the following data, construct a triangle ABC. Draw two altitudes of triangle ABC. Write the construction

steps also. mAB = 5cm, mLA =45°, mBC = 6cm
—— 1SA-l 2209 (HA) —
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|- ol ol il
(ur)/r(jx"/)
60: 5 sl 0 2 | Q 889:40:25,
-Q/JaUlr(03)uf¢.Jf¢.d3(}’J?.,§.le(09)]1"5}J-Q:@é(dimﬁﬂffLoﬁuoylﬁé:«ﬂ’r&(}’mp).ﬁ 0%
KWl g yen S EIN o i sl oz LT S ol i S (Sheet-B) wii 24

(36/ J/)"»,a?
(9x4 = 36) s LA S a2(09) e S ftsone ¥ Al
o o [-x 3] [-1 270 2 :
-L[/(r)”u:‘-f‘f ymwéu-z[l _2]+4[1 —2yj|=[2 -12];’ (i)

2y B arvi iz S i)
(2N &)
e ed s Fog e -2=2 ] (iv)
-Juf(}”u.‘:gd/x—i-mx+£?x=2~\/§ﬁ (v)

1-x* —y* +2xy g‘.:(d/“ (vi)

9x* - 24x° —14x? +40x +25 (// rk’d/u@(éﬁdﬁs (vii)

er.?.§+x—;§.>_z;-r—§(2x+3) JSF S g (Vi)
5”’39’5 =i3‘. gL (ix)

yrdre2=0.0 K S jvéu,izm.,;}/gﬂuf (%)
bzl N6 LT C(6,0)081 B(=2,6), 4(12,8) b8 S S el s a§ Ly i Aok (xi)
bl g it LI BesIn St i L1 BLISS At & ois S S et (i)
mBD:mDC = mAB:mAC S /&, Sy D 555 BC &t 4 0L ABC & (xiii)
A -q/ryh’u“ﬂfd/ x7

DE f{ 4B £/ 4 = § x L ABCEL: 411246 (Xiv)

(244 ;f )
(3x8 = 24) it Lu):yrt?-é Sdiref <3
tx-6y=-2, x+3y=T g S S e ™8P Luds TG Al
A LS L D@44 C6,4) B6,-3) ¢ AQR-3) bBS LS IA 0 Ay
x+2y=-1, 4x-3y=18 fS S csal ISttt 02Uy
e oS osI i m S el e £ 55N S S et VA i
mAB = Scm, m4A=45°, mBC =6em -4 F S S (s Ll QU L e ls_ Sl ABCEL: AUy
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Section — A i isory. Al parts of thi S Fe ey 55 e i
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Deleting/ iting is not allowed. Do not
leﬁag glegn?:\{lt‘:}mrl ing 15 not aliowe 0 not use SECTION _ A (Marks 15)
Time allowed: 20 Minutes
Fill the relevant bubble against each question: -J./f,ﬁ/’bwﬂéé-:&b&ﬂfﬁ
What is the value of x if ‘i i‘:m ' i '
i~ : W Cr 9 L ad O 6 O -
ofedds \:o/. '
3 ox .
What equals # in the following
options? :
g — _
. ".4/.1/.£u/ i O : O ! O ! O :
If log,1==x then value of x is: ’
3. L 0 1 : 3
; tfnfedd ot logl=x O : O O O
If4/64 = 2%, then value of x is:
4, ' 0 : 1 2 6
DRRSTRY - RS Q O O
Factorization of x2—2+v1—2 is: N [ 1)[ 1] . 1' L ;
X 2
5. O {“_] O (=Y O (,_c__) O (x-2)(x+—J
?u(ﬂ_l_fdfd/xl—2+—l~2- x X x' x X
= X .
What is the HCF‘of—ny3,4x3y,6x3y3’r;' :
6. : - 2 22y 4
e W 23 42°y,65° Y O -2 L) o O r O &
The solution set of lxj+9=5 is: ) »
-4 &:Jb’|x[+9=5 gl O { } O { } O { } O { }
The lines x=5 and y-=-—4 intersect o
each other at: '
& e ‘ , —5,4 5,—4 5,0 (0,~4
?wd)’(}!"ulﬂ/fg/uu@x=541[y=—4;_}f‘|1 O ( ) O ( ) O ( ) O ( )
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Measure of an exterior angle of an

equilateral triangte is: 60° O 120°

?{__U/,.S.'i‘d_b‘.’:(b,.agé: (-4, 2) 2(4,2)

©2) .

) 180° 360°
??t'n&rf:u{jyj{bw'ﬂld:u
In AABC if msA=60° mLB=45° ‘ At the mid of
then the three right bisectors of the Inside the Outside the R the shortest
sides lie: triangle triangle At the vertex side
10. : ‘ O O
JmdA=60°, mLB=45° 2ABCaES T anLlal L Lk Iy LA
SrL Lo LAY (il
In AABC if mdA=80°, mLB=40°
and mZC =60° then the longest ‘ .
11, segmentis: ' O 7B ' O B0 T Median
o LA = 80°, mLB =40° LABCLLS : % b
?%L;ufb;gwa._./; mLC = 60°
What is the value of (x)?
12, O 2 QO 1 N7 8
TQ..:.«EE/J(I) W%
Which triplet of the following are the - ,
side measures of a right triangle? - 7 o
13. : : 1,3, 4 o 1,2,45 s 11,1
sepfad 2P WS D et S B O A O ’ '
Medians of a triangle intersect each
- ptherin ratio: - ' - T
14, : . 2 2: 223 3n2
"What is the mid-point of the line
segment joining (4,2) and (-4,2) 7 ' ' ‘
g, SPOMeT g (4,2) and(3,2) O @2 O 44 A

VW V'.VV .SW v DK
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MATHEMATICS SSC-|

(Science Group)

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE: Answer any nine parts from Section ‘B’ and any three questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly. Loghook and graph paper will be provided on demand.

_ ' SECTION - B (Marks 36)
Q.2 Attempt any NINE parts. All parts carry equal marks. (9%x4=36)

- — [
()  Find the values of x and y if _3[1 2}2[2 y}zf 2}
-3 x -1 2 7 2
(i) Simplify 3; Z_i and write the answer in the form o+ 5
+
. ) plg-r) gy
(iii) . Simplify %{%}

(iv) Find xif log,(x’ +1)=2
(v)  If x=2+43 , find the values of x+1 and x-1
X X

(Vi) Factorize the expression p> - x* +2x-1.
(vi}y  Find the HCF of x* +2x-8, x* —2x-24 and x*+5x+4 by factorization.

(vii)  Solve the inequality %}—)—%—(1+y)$%y—%(5—y) where yez

{ix) Solve:

5
{x) Draw the graph of 4x-2y+6=0 by taking at least four ordered pairs.
{xi) Using distance formula, show that points 4{1,2),5(2,3) and C(3,4) are collinear.

7x—4‘_2

(xii) Any point on the bisector of an angle is equidistant from its arms. Prove it.
(xii)  In A4BC, internal angle bisector of £4 meets CB at the point » such that

mBD : mDC = mAB: mAC . Find the vaiue of x. A

{xiv)  In A4BC DE|| 4B and EE:%E . find the values of x andy.

SECTION ~ G (Marks 24)

Note: Attempt any THREE questions. All questions carry equal marks. (I3 x8=24)

Q.3  Solve the system of linear equations 2x+5y=-2, 4x+ 7y =2 by using the matrix inversion method.
Q.4 Show that the points 4(-6,-2), 8(1,-2), C(4,3) and D(-3,3) are the vertices of a parallelogram.
Q.5 Solve the system of linear equations 2x+ 3y =5, x+ 2y =2 by using the graphical method.

Q.6  If two angles of a triangle are congruent, then the sides opposite to them are also congruent. Prove it.
Q.7 From the following data, construct a triangle ABC. Draw two perpendicular bisectors of any two sides of the
triangle. Write the construction steps also. m4B = 6em, mZ4 = 60°, maB = 45°

—— 18A- 2209 ——
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60!r,~wir»#?/:} f

_L{‘/(J&ULV’(O3)(;{;[})(Lbr:r!‘,£7,‘§.fl;ﬂ (09)}&(3}y-uj;g}fc}lﬁgd/&fcaﬁkgylzﬂ..i‘«Uly‘er‘mr»,ﬂ" b
-?Llyg.lff,{,i.?_cdsﬁp_}l/ﬁulJjﬂ,ﬁfgi.n(‘fIJJJIJLJ:;LU?L._(T..JL@JQf{,L/J(Sheet-B) _*f'l/ff.rl

(36 / f )r,u -
{9x4 = 36) dar ALt E L wa(09) Jedf e ki s ¥ i
-J_/r}h”u,ﬁ.’nyu!x 7 —3[;3 ;2]+2[_21 ";:l=|:; _22])1 (I)
P v B2 )
,._Lﬁ:[r] L)

-u:/pl’”:.a:;’.L{x;Iogﬂxs +l)=2/ﬁ (iv)
-g,[/r:h’ufgd/x—i—ﬂlx+§;x=2+\/§ﬁ (V)

-5t +2x-1 -Q_;Lff-d/éﬁ (V[)

K +5x+ 4 +20-8 ¢ x*—2x—24 _q/(,b’df;_u;g,)"'l;& (vii)

yeZ B i}_’_%m y)S%y—%G—y)bf/‘U’[wisL/ 4 (viii)

3
7x—41=§ u”‘)’d" (ix)

: 5
ax-2pr6=0  SIE SR Lozl nd (%)
VS (5 C(3,4) 4 B(2,3) < A4(1,2) b& S et Gy 5 del (xi)
e br i e U S B Ll Lo S et (xii)
mBD:mDC = wAB:mAC S LA U1 D 5 BOL oK 4 ptibui £ apc ke (i)
A U b ed $xd

_q/"pl”uf‘fd'y sxd DE= %EE s DE||AB JEABCEAS (xiv)
4 /S Yoy
(3x8 = 24) s f Lty (i gES Dref <35

IS0 AF T ,J_)U’:_.uJgﬁfq/bz:u,!wfuiuué"w A i

e LI G D(-3,3) 1 C(43) ¢ B(L-2) A(-6,-2) BES STl 1 A iy

2343y =5, x+2y=2 I crul ISl 0 Sty

e s e Loiund F o wnLadt s N0y ek Ay

mAB =6om, med=60°, meB =450 g 1 F & i /:-u‘f‘{ (St LCUJI»U’( Cats S ABCEL: AUy
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